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AN 2IEMD
B 2BHBH
el 2o (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ2S3&TA HOAES
12,000& = 5004 = 23 1,200
02 =224l 1,548 1,548 0
o222 ¥ HMAll 348
OZ2Ss&4 dMIIR3 29,000& ~ 12& 348
O[AM&EHI S X4l 1,200
O 3&at&d4a |2t
100,000& * 1200 2 1,200
oy 2RMYDI IS AX L A 357,000 202,857 154,143
= 249,900
s 107,100
101 @14l 132,329 65,418 66,911
= 92,630
[ia 39,699
04 JI2ZtHZ22HEE =+ 132,329 65,418 66,911
ORsMYII+H A2
40,140 = 4091 = 73 117,209
= 82,046
s 35,163
ORSMYII=HAUR 4UHEEE
117,209,000& * 0.129 15,120
= 10,584
i 4,536
201 et 212,671 127,439 85,232
= 148,870
[ia 63,801
01 At 22l 192,671 107,439 85,232
Olger=&Hl] 142,671
O R2sMdUlIXMel A28 7
10,000,000& * 14l 10,000
= 7,000
s 3,000
ORIl =2
132,671,000& * 14l 132,671
= 92,870
s 39,801
Oolgxz] 50,000
OFsMYIl =H EH Xz
50,000,000& * 14 50,000
= 35,000
[ia 15,000
02 2324gHl 20,000 20,000 0
O[XrgFs el ] 20,000
O 2FXHIl =ANMel #F7¢
1,759.5% * 157.873¢ » 60H * 12& 20,000
= 14,000
= 6,000




AN 2IEMD
B 2BHBH
el 2o (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 o4dl 2,000 0 2,000
= 1,400
e 600
01 = LH o4 1l 2,000 0 2,000
ORKMYI =HMel Kbl
20,0003 = 22! = 50 2,000
= 1,400
e 600
401 Al HIZ 201 Y] 10,000 10,000 0
= 7,000
= 3,000
01 A& HI 10,000 10,000 0
ORsMdJl e 2= 10,000,000& * 14 10,000
= 7,000
s 3,000
HAA MEHSIE SRAALY 2,126,000 0 2,126,000
=1 1,588,000
s 538,000
401 AIEHI L 20 2,126,000 0 2,126,000
= 1,588,000
[ia 538,000
01 A& Bl 2,118,910 0 2,118,910
OZgd dMEotd =AY
2,118,910,000& * 14l 2,118,910
& 1,583,037
s 535,873
03 Al S THHI 7,090 0 7,090
OZgd MEotd =AY
7,090,000& * 14! 7,090
& 4,963
s 2,127
I EE533XelAd =8I 611,842 714,051 A 102,209
=233 HEAANE 23 611,842 714,051 A 102,209
201 et 132,707 189,707 A57,000
01 At 22l 55,277 109,277 254,000
Oflger=&Hl] 55,277
ONERLBIHUANL SFS +HAMLS
Z (60 &) 29,2003 =« 43| 117
ON=2asdll d28AM =2
400,000& = 23l 800
oHl&RE%Z 7 180,000& * 23] 360
OJN=E=2LsddXl AKXl
56,250 * 80& » 12& 54,000
02 2324l 77,430 80,430 A 3,000
o222 ¥ HMAl 11,430




2N HESED
HE: +RBRRH
e JIIEERZ22XelAdE =8I (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OEELzzAeIE 28 2523
952,500 » 12€ 11,430
O[AEZHI SXYl] 66,000
O CCTVIH 2t & Xl 22l b] 142,857& = 70H 1,000
OIIESE2EZ2ZX2AIE KA 22|
2,500,000 » 12€ 30,000
O2LLEMIAEHIANE SA22dl
1,250,0008 * 12& 15,000
O SBAF (M 2Bt el&Hl) SAl2eldl
1,666,666% * 12& 20,000
206 M = Hl 75,000 100,000 A 25,000
01 X2 H| 75,000 100,000 A 25,000
OIIE2E2Z2XMEAE A3 H|
6,250,000 » 12€ 75,000
307 2iz2tol & 404,135 424,344 N 20,209
05 QIZ2tR EF 2 404,135 424,344 N 20,209
OII=EESZ22H2A4E 2HH(2&EY])
33,677,9162 * 12& 404,135
HIIZ2 2 3,468,387 3,439,973 28,414
= 138,300
= 49,097
= 3,280,990
HIIZ2 Ml 528,722 390,705 138,017
= 138,300
= 49,097
= 341,325
AsHHY =HEH2 X2 148,435 97,600 50,835
= 33,000
o 23,087
= 92,348
301 et A= 148,435 97,600 50,835
= 33,000
=} 23,087
= 92,348
11 JIEtE A2 148,435 97,600 50,835
QHbYdE=AHEHZ X2 50& = 2,968,700kg 148,435
= 33,000
= 23,087
= 92,348
SUEY NS EXAMY 7,500 7,500 0
& 3,750
= 3,750
206 M = H| 7,500 7,500 0
& 3,750
= 3,750
01 X2 H| 7,500 7,500 0




2N HESED
Mz HIIS 2
2 HIIE2 Hel (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Os2Auely =08 72¢ 500,000& = 1504 7,500
o 3,750
= 3,750
S8HHII=S 22l 109,847 85,105 24,742
101 e1214| 84,155 65,413 18,742
04 JIZtHI22NEE S 84,155 65,413 18,742
OMED| BYEI| S oYy
40,140 « 1721 » 86 58,685
(OE == 40,1404 * 172 = 1,62 = 128 13,102
OY & = IHy| 200,000& * 69! 1,200
Q42 (H, 92,02 &)
72,987,000 = 0.153 11,168
201 et Y| 16,992 16,992 0
01 AP 22| d| 9,900 10,800 A 900
OlgerE==H] 6,600
OHJISESYEED 2108 X
300,000& * 2200 A&~ 6,600
Olexz] 1,500
OHJIZ2 SYHIHE =2 HHAMNE=
500,000& = 33| 1,500
O] 1,800
OHJIZ2 &s=gda NEE= 22X
7,000& * 201 « 10.71 » 12& 1,800
02 2%l 7,092 6,192 900
Ol2=222 % HMA] 4,992
O=HED et 2HY AIES
60,000 * 404 = 12& 2,880
OEYED JtHct MIIR2
19,000 = 404 ~ 12€ 912
oMY Dl SEEI 0lsA ZAIIHH 2 Ol A
X &tE 22 200,000& = 3CH ~ 23| 1,200
O[AMEEHISXHl] 2,100
O=EED 2tAIZtHI 2 £=2ldl
200,000 = 6LCH 1,200
OMYIIEEED 0lsA ZAIZHMHI 2 Ol &H|
450,000& * 204 900
202 044 2,700 2,700 0
01 2L Y| 2,700 2,700 0
OHJIZ2 Hisga ANESS |
20,000 = 2021 % 7.5 2,700
401 Al HI L £ 0HHI 6,000 0 6,000
01 Al& H| 6,000 0 6,000
OQHJIZSEEEI ZA2tH2H & X
3,000,000 = 24! 6,000




2N HESED
Mz HIIS 2
2 HIIE2 Hel (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
HAME =& el 46,340 58,500 A 12,160
201 LBt 9 ]| 46,340 3,500 42,840
01 AP 22| H| 46,340 3,500 42,840
Oolget=&dl] 44,840
OHZYOIE Ml (HZ 2= TdH)
400,000€ = 10& 4,000
OHJIEMS s &9 H&
70,000 * 120H 840
OHEAHE+X |AEH2ll 250,000& » 80E 20,000
OEEHI=S A=l 125,000& « 160 20,000
Olgxz2] 1,500
OHEZE /AEXe EE Xz
300,0008 * 53| 1,500
A=sHIIS L OIS =AY AXAY 15,000 16,000 A 1,000
= 4,500
& 2,100
= 8,400
401 Al HI L E0HHI 15,000 16,000 A 1,000
= 4,500
o 2,100
= 8,400
01 Al&H| 15,000 16,000 A 1,000
AszHIIS € 0S4 =8 AE &AX
5,000,000& = 3JH A 15,000
= 4,500
= 2,100
= 8,400
Sd0lE Hel NALE 201,600 126,000 75,600
= 100,800
o= 20,160
= 80,640
403 XX S M S K201 A 201,600 96,000 105,600
= 100,800
= 20,160
= 80,640
02 SII2S 0 CHsHCH e A I 201,600 96,000 105,600
OSdI0IE XMl XJAY  2,880,0008 * 70 201,600
= 100,800
= 20,160
= 80,640
HIOI2H2AE & FHOIS FUSJAAY 1,333,893 1,435,111 A 101,218
& HIISXKHEAlL AE 2,700 2,700 0
202 o4 H| 2,700 2,700 0
01 2Ll 2,700 2,700 0




SN BERED
M HII2 2
S HIIS™MeAME ¥ FHOS FeU=SJAY (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OBZNA A&X Ast
120,000& » 3¢l » 7.5 2,700
HI?I &0 X Ebl 6,500 17,411 A 10,91
201 LBH2d| 3,500 9,711 A6,211
01 At 2t 2l 3,500 9,711 A6,211
OHIIMIHE X A2 24HE
3,500,000 * 14l 3,500
401 Al I 28I 3,000 7,700 24,700
01 A& HI 3,000 7,700 AN4,700
OHI/IMIHE Xl ANIEE EHIE
3,000,000 * 13l 3,000
e33R EH F=HOtE X2 820,000 905,000 285,000
201 Let249] 10,000 0 10,000
01 At 22l 10,000 0 10,000
OJRSANAME =H0IS NAAY 2F =
g = 312,500& » 322 Xl 10,000
307 Qiz2tol & 10,000 5,000 5,000
02 QIZtFAEX= 10,000 5,000 5,000
OMYII=E HOHCHZ 10% K&
100,000,000& * 10% 10,000
402 RI2HXt20l ™ 800,000 900,000 2100, 000
01 2I2tR2E X 800,000 900,000 A100,000
OOslsdUHJdEH =H0tE X 800,000
O el dRNIMH =H0E K&
800,000,000& * 14l 800,000
HIIZSX2IANE =HOIS K& 501,080 500,000 1,080
T AEHIZXEUY 501,080 500,000 1,080
01 A& HI 500,000 500,000 0
OHJIEXelAE =S FeU=JAAY 500,000
O=2XZ% 80,000& = 5,000m 400,000
O th=+==2 &t 100,000& = 1,000m 100,000
03 A& =2 THHI 1,080 0 1,080
OHJISXelAlE =HOtS =AY
500 000,000& = 0.72 * 0.3% 1,080
SZINEANE 29 3,613 10,000 N6,387
101 @124 Hl 3,613 10,000 NG6,387
04 JIZHHZ2XREES 3,613 10,000 NG6,387
OSEIEZANE EFE=HA Q2]
40,1403 * 102! * 3 * 33 3,613
HIIS2HM2ANE 29 1,557,832 1,565,217 AT,385
Delastd M (a2A8)2dy 1,345,805 1,350,717 A4,912




SN B#ZBEY
M HII2 2
S HIIS™M2ANE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 124 dl 46,978 39,850 7,128
4 D12t Z2XREES 46,978 39,850 7,128
OF2UZANRH 212
40,1403 = 32! » 249 29,985
OFUZANRE =524
40,1403 = 32! = 53« 6,383
O2ZANE HESIHI
200,000& = 321 = 23| 1,200
OFUZANAH E&ZF 1,200,000& = 3¢! 3,600
OFUZANIE AHEE=
37,968,000& = 0.153 5,810
201 YEr2 Y| 383,330 383,370 A 40
01 At 22l 69,650 69,650 0
Oflger=&tl] 66,050
O HI&TH XHeldl 176,000& * 15& » 123 31,680
O CtoI=4l Z AtHI 4,500,000& = 13l 4,500
O TMSE & & AtHI 4,320,000& * 13l 4,320
OHEZEEL FIIHAI 150,000& * 13l 150
OUIIEINNA IS FEHI
861,538.46& * 262/ 22,400
OALESEFHLBA=2
3,000,000 * 14 3,000
Ol=&Hl] 1,500
Oax2ANE 2F SEHI
7,000 = 32 * 71.4« 1,500
olm=tl] 2,100
oXxg=E Py 150,000& * 62! 900
OSN3, H3, HIR, &ets S
120,000& * 53 = 20l 1,200
02 3322l 313,680 313,720 AN40
o222 ¥ HMAl 126,900
OAZAE 2F HIIes
9,750,000& » 12&8 117,000
OAL2ANHE 28 =522 633,333& * 12& 7,600
OsZItdze HIIFAMZE
200,000& * 13l 200
o0&l BHE=Z 175,000& * 128 2,100
Oo[¢zhl] 10,400
oAz BEXAHZH
1,851.52% * 468.08L =+ 12& 10,400
O[AM&E&Hl S X4l 165,380
OJIHANAE E+8 A2d ZI|+
45,000% * 208 * 2004 1,800
OAN&EE RA22 &+
45,0003 * 23| » 204 180

_8_




SN BERED
M HII2 2
S HIIS™M2ANE 2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O TMSE Xl 2t2l S| 1,800,000& » 12& 21,600
OHZEgENSEY A2 72¢
800,000& = 14| 800
OHELALH KAl EHH|
1,500,000& * 23] 3,000
OALAANEZHEY RAUBNHI(IIH,HIIEE)
6,000,000& » 128 72,000
OstAX FX E==Hl 2,500,000& * 128 30,000
oustE sX=E =l 2,500,000& = 12& 30,000
OJIEHIZ (D1, 0212 S SZnHHI)
500,000& * 12& 6,000
O[XrgFs el ] 11,000
OYEXNY & Azt
1,759.5&  213.128¢ 204 = 128 9,000
OX&EdEH & A2FH|
55,5553 * 300 » 12& 2,000
202 Odl 1,800 1,800 0
01 = LH 4 Hi 1,800 1,800 0
OALNE 29 L= oY)
20,0003 = 32! = 30 1,800
206 M= Hl 64,950 76,950 A 12,000
01 M= 4l 64,950 76,950 A 12,000
OYXAE 243l 5,000,000& * 12& 60,000
OHIMTH XMel8 =8+ 6,600& = 7500H 4,950
307 21201 A 848,747 848,747 0
05 BIZERI & 3 848,747 848,747 0
OAZAIE 2AE2IGHI(2EH])
94,305,2008 » 9& 848,747
ZHJISHMelAE(HEAE)2E 66,613 62,017 4,596
101 @124l 31,185 26,589 4,596
04 J12ZtHZ22 s+ 31,185 26,589 4,596
OFZANI 12
40,1403 * 221 x 249 19,990
OFURAREY FHLL
40,1403 = 22! » 52 4,175
OFUZANLE HE SO
200,000& = 221 = 23| 800
OFZANE 400 BEE=
24,965,000 * 0.153 3,820
OFUZANE EHZ 1,200,000& = 290! 2,400
201 £B-2dH| 30,628 30,628 0
01 At 22/l 2,288 2,288 0
Olger=2tl] 2,288




SN B#ZBEY
M HII2 2
S HIIS™M2ANE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OWMEHE KXot =ZIAMN ==
126,000& * 33 43 1,512
OMEHE &=+ HIIE A
194,000& * 43| 776
02 =224l 28,340 28,340 0
o222 ¥ HMAl 11,180
OEAE 2 MIIR= 666,666& » 123 8,000
ONEAYE 22 =23 83,3338 » 12& 1,000
OMEAE 23 MEZ
22,9163 * 4314 * 12& 1,100
OWHSAIE HI|otMd2te| H&bI
90,000& = 123 1,080
O[AMAEHI R XYl 17,160
O CCTVItOi 2t R XI2teltl 196,363& * 11CH 2,160
OWEAE FX2cltl 833,333& ~ 123 10,000
O ZHIRXHI (24D 2 38)
416,666 + 123 5,000
206 M= Hl 4,800 4,800 0
01 =8l 4,800 4,800 0
O%ZFH (&Y, A5, €5 5)
400,000& = 123 4,800
SSMEBEILAE 29 128,314 135,383 AT,069
101 @124l 61,754 71,831 A 10,077
04 JIZHHZ2Z2XNSE S+ 61,754 71,831 A 10,077
OMgeBMY 22y
40,1403 * 491 = 249« 39,980
OMEBEMYS FE4Y
40,1403 = 401 » 52 8,350
ONesdE R FEF I
400,000 = 491 = 23| 3,200
OMEBESHEUR 40 BEE=
51,528,000& = 0.153 7,884
OMEBESHEUR L= 2,040
oxgs 100,000& * 62! * 23] 1,200
O et& 3t 70,000& = 621 = 23| 840
OMEBELALS SLAF 448
300,000& * 13l 300
201 LB-2d| 54,560 51,552 3,008
01 At 2t 2l 6,100 5,100 1,000
Olger=2tl] 6,100
OMEBSHUAL HABAST £42
500,000& * 23 1,000
OMESSHEUR FHALE A2F 2
50,000& = 12& 600




FN: B3EHD
M HII2 2
S HIIS™M2ANE 2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMESESHEAMNE 2dME 22 (Y )
375,000 » 12& 4,500
02 =224l 48,460 46,452 2,008
o222 ¥ HMAll 504
OMEBEHEANL 29 +523
42,0003 = 12942 504
O[MNA &I R XYl 40,756
OMESHEANLE SN2l (A, HIIZE)
750,000& » 12& 9,000
OYEMMII(0I2 S)Z2E KA
29,752,000& * 14 29,752
O ZHIRXHH(XAHX S) 167,000& * 122 2,004
O[XrgFs el ] 7,200
OMEEE 2XE XUl
600,000& = 12& 7,200
206 M= Hl 12,000 12,000 0
01 M= 4l 12,000 12,000 0
OAEH (g A5 &5 HEFH S)
500,000& = 123 6,000
ONMEESE sAXNaE8 EY 22
7,000& =+ 857.10H 6,000
2= ZTIANE 29 17,100 17,100 0
201 €82l 17,100 17,100 0
02 =224l 17,100 17,100 0
O[AM&EHIR XYl 17,100
OgYg= - - ZTAE RX 2t
1,200,000& * 128 14,400
O XASHE ==cldl 2,700,000& * 14 2,700
sSasMY Dl 2el 47,940 48,940 A 1,000
sSASMY I Hel 47,940 48,940 A 1,000
201 Let24E] 45,440 4,100 41,340
01 At 22l 45,440 4,100 41,340
Oflget=&Hl] 45,440
O SASMY Il Il 88 SAHIHE M
70,000& = 200H 1,400
O3A2MdD 8JI+H 82 WX
600& * 4,5000H 2,700
O3sa2MdJ A€ HMeldl
53,000& * 13& = 60 41,340
206 M= Hl 2,500 3,500 A 1,000
01 =8l 2,500 3,500 A 1,000
OsaSsXeI 88 =HEJ 7
50,000& = 504 2,500




SN 2D
el

M3 mavel
Chel: MatMg D] 2te| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FAze 616,015 1,580,204 A 964,189
MEM D] 22 216,902
MEMY I =HKX 200,589
1 QI 4l 93,961
04 JIZHHZ2Z2XNHESE S 93,961
omgae Ha o
40,1403 = 501 » 249« 49,975
Omgae Ba o8 F54g
40,1403 = 501 * 42 « 123 9,634
OliZaE B4 % ARSI
400,000& = 5¢I 2,000
OUsSAtE HA 02 4HEE 2
61,609,000& = 0.153 9,427
OHALZ & TAHMX MEHIS =H AR
40,1403 = 20! = 80 6,423
OHALZ & TAX MEHIS =H AR =5
=g 40,1403 = 201 = 11 884
OFME & TANX H2HIIS +=H AR 40
28z 7,307,000& = 0.153 1,118
O=z2&F2¥ I=SHI(0kZXZ) S) 14,500
O OFZ 27 29,4203 = 3491 x 23| 2,001
oO&I=E 100,000& * 34021 * 23] 6,800
O o+M 5} 44 1003 = 342! = 23] 2,999
O <4l 25,0003 = 3491 = 23| 1,700
O 22Xt 14,7003 = 3421 » 23| 1,000
2Et2 HH| 14,278
AtS 2tel ] 6,128
Oflger=&Hl] 3,300
oMMy ) EE2 HMA 10,0008 * 2508 2,500
OMEM) =EWME FIAEIAH M 800
o LBtMg D] 300& = 1,3330H 400
o SASMdJ| 300& =+ 1,3330H 400
Ol=&Hl] 2,828
O &Z0Isd WsaES I
7,000& = 3491 = 63l 1,428
OA0ISRA FE224E 24Ul
100,000& * 14ME 1,400
S22l 8,150
Ofxte &t et ] 8,150
ousde HAXg 23| 4,150
o #&7U 1,759.5& = 149.19¢ » 128 3,150
o ==« Hl 250,000& * 43| 1,000
OMEEE =HXY 2 HI(ZAHI) 4,000




SN B#ERED
M HaABe
Chel: MatMg D] 2te| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o =&MU 1,759.5& * 189.447¢ * 128 4,000
202 44l 3,000 3,000 0
01 SLHOIYI 3,000 3,000 0
OdaMe I =HeEel ol
20,0003 = 32! = 50 3,000
206 = Hl 73,950 73,950 0
01 MHZ 4l 73,950 73,950 0
Ogcl+=HE 0=2 ¢
4,500% * 10090 = 11002 4,950
oMl S&H 5 M 60&  750,0000H 45,000
OSASXYI EEEI HRES WH
243 = 1,000,0000H 24,000
307 gl2tol & 5,000 5,000 0
04 QIZtHAIE X = 5,000 5,000 0
OUsZHS & #AXE  5,000,000& * 12 5,000
405 TtHobFH S| 10,400 25,400 A 15,000
01 AL EFSFHSHI 10,400 25,400 A 15,000
OonMges 2cl=10 <& 108,000& * 504 5,400
HALE 2 TOAX MEMYI| =HE LE
A FU(LSHEYA) 5,000,000& = 1CH 5,000
A2tAIE SR 2el 13,163 972,509 A 959,346
201 Let24d] 13,163 24,509 A 11,346
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